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I 70 1 (variante A) SUPERFICIE UTIL = 55.83 m* Il o 1 (variante B) SUPERFICIE UTIL = 55.80 m* 7o 1 ariante C) SUPERFICIE UTIL = 56.63 m*
VESIDIS = 3.58 m* ESTAR-COMEDOR = 18.42 m* VESIDIS = 358 ESTAR-COMEDOR = 18.25 m* VESIDIS = 3.58 m* ESTAR-COMEDOR = 18.22 m*
ARMARIO 1= 1.44 m? DORMITORIO 1 = 13.07 m? ARMARIO 1= 1.52 m? DORMITORIO 1= 13.13 m? ARMARIO 1= 1.44 m? DORMITORIO 1 = 13.07 m
COCINA= 7.01 m* DORMITORIO 2 = 8.64 m? COCINA= 7.01 m? DORMITORIO 2 = 8.64 m? COCINA = 7.01 m? DORMITORIO 2 = 8.64 m?
BARO 1= 367 m* BARO 1= 3.67m? BANO = 57
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B F0 1 (Variante D)

SUPERFICIE UTIL = 55.77 m*

VES/DIS = 3.58 m*
ARMARIO 1 = 1.50 m?
COCINA = 7.01 m?

BANO 1= 367 m?

ESTAR-COMEDOR = 18.27 m?

DORMITORIO 1 = 13.10 m?

DORMITORIO 2 = 8.64 m?

TIPO 2

SUPERFICIE UTIL = 69.63 m*

VES/DIS = 5.69 m*
ARMARIO 1= 1.49 m?
COCINA= 7.17 m?

BANO 1= 379 m*

BANO 2= 248 m* DORMITORIO 3 = 8.93 m?
ESTAR-COMEDOR = 18.44 m?
DORMITORIO 1 = 13.00 m?

DORMITORIO 2 = 8.64 m?

- TIPO3

SUPERFICIE UTIL = 69.85 m*

VES/DIS = 6.15 m?
ARMARIO 1= 1.51 m?
COCINA= 7.17 m*

BANO 1= 3.77 m?

BANO 2= 3.03 m* DORMITORIO 3 = 8.18 m?
ESTAR-COMEDOR = 18.36 m*
DORMITORIO 1 = 13.04 m?

DORMITORIO 2 = 8.64 m?

PLANTA TIPO (Plantas 2° a 6°)

- Tipo 6 (1vda)
- Tipo 7 (7 vvdas)

2" Tipo 2 (30 wdas)

- Tipo 3 (24 wdas)
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TIPOS DE VIVIENDAS



